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EXERCISE #F 1

Consider the amplifier in the figure, whose parameters at T = 25°C are the following:
V=24V, Rp=500kQ, R3=3kQ, Rg=100kQ2

Ql: IC1=0.6mA, VRg=0.7V, Br=50, (=80
Q2: VRg=0.7V, BF=50, B(=80

Considering C; a short circuit at mid-band, determine:

1) The bias values of I .,, V Vg, and the value of Ry;  &—

c2> YV CEl
2) The type of feedback and the value of [3;
3) The open loop amplifier gain AQ .

4) Voltage gain Ay=Vy/Vg

5) Input resistance Rj. Mot RPuAR ASe
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EXERCISE 2

Consider the two stage amplifier in the figure below. The circuit parameters at T=25°C are the following:

Vee =24V, Rg = 0.6 kQ, Ry =300 kQ, Ry = 270 kQ, R3 = 4.7 kQ, Rf = 10 kQ

Qi:Ipss=1mA,VT=5V,rg=o

Q7: lCQ =-2 mA, VCEQ =-8V,VBE=-0.65V, B =P =100, r, =

Determine:

1) the values of resistances R4 e Ry ;

2) the type of feedback;

3) the feedback gain f3;

4) the open loop amplifier gain A ;

5) the closed loop amplifier gain Af;

6) the voltage gain of the circuit Ay = Vo/V§;

7) the indicated output resistance ROUT.
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